PreAP Foundations & PreCalculus Math 10                                      Outcomes FP 10.8/10.9 (6.4-6.6)
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Online Video Lesson:  https://goo.gl/BNpUZh        https://goo.gl/ca6RAc        https://goo.gl/PqMiRg    https://goo.gl/VCY6ER  
Example #1: 
[image: image12.wmf]1

2

1

2

x

x

y

y

m

-

-

=

Using a table of values, sketch a graph of the equation y = -2x + 5

	x
	
	y
	(x, y)

	                    
	
	
	

	
	
	
	

	
	
	
	


[image: image13.wmf]1

1

yy

m

xx

-

=

-

Example #2: 
Using a table of values, sketch the graph of the equation 3x + 4y - 12 = 0

	x
	
	y
	(x, y)

	                    
	
	
	

	
	
	
	

	
	
	
	


[image: image14.png]


Example #3:
State the slope and y-intercept of each equation.  Then, identify the graph the matches the equation.   If you were just given the equation in slope-intercept form, how could you draw the graph of the equation?
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Example #4:
Use the y intercept and the rate of change (slope) to graph

 y = 3x – 2.

· STEPS:  Get y by itself if it is not already.

· Identify the y intercept (it will be the # by itself)

· Graph the y intercept.

· Identify the rate of change.  It will be the # in front of the x. Write it as a fraction of     
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· Put your pencil on the y intercept. From there, rise, then run, then stop and draw a dot. From this dot, rise, then run, then stop and draw another dot.  

· Connect the dots if appropriate.
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Example #5:
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Sketch the graph of each line using the slope and y-intercept

a)
y = -5x + 4





Example #6:  NOTE: The following questions are written in GENERAL FORM.
Rewrite the following in slope-intercept form and the sketch the graph

a)
2x + y - 9 = 0





b)
3x - 8y - 24 = 0
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Example #7:
For the linear equation 2x - 3y - 6 = 0

a)
state the x-intercept 


b)
state the y-intercept
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c)
use the intercepts to graph the line

Example #8:
Sketch each linear relation and identify the intercepts

a)
y - 3 = 0 


b)
x + 4.5 = 0


 c)
y = 0
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Example #9:
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Peanuts cost $2 per 100 g and raisins cost $1 per 100g.  Devon has $10 to purchase both these items.

a)
Generate some data for this relation. b)
Graph the data.
GRAPHING LINEAR RELATIONS ASSIGNMENT  
1. Graph the following equations using a table of values. (Create the table on looseleaf and do two lines per graph) (OMIT)
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a)
y = 2x – 3


b)
y = -4x + 8


c)
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d)
x + y – 1  = 0


e)
3x + 4y – 8 = 0

f)
0.5x – y + 1.25 = 0

2. Sketch the graph of each line using the slope and y-intercept (two lines per graph)
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a)
y = 2x – 3


b)
y = -4x + 8


c)
y = -x + 1
d)
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e)
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f)
y = 5
3. Rewrite the following in slope-intercept form and the sketch the graph of each line
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a)
2x + y – 9 = 0


b)
4x – y – 8 = 0


c)
x – 2y + 10 = 0
d)
3x – 8y – 24 = 0

e)
4x + 5y + 6 = 0


4. Determine the intercepts of each line.  Then, graph the line (find intercepts on looseleaf) (ODDS)
a)  2x + y – 9 = 0
b)  4x – y – 8 = 0
c  )x – 2y + 10 = 0
d)  3x – 8y – 24 = 0

e)  4x + 5y + 6 = 0
f)  y = -x + 8

g)  y = 7x – 5

h) 
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i)  x = 4

j)  y = 0

k)  4x – 12 = 0

l)  x + 4 = 0
5. Name a strategy you could use to sketch the graph of a linear relation in general form?  Are there other strategies?  Explain.

6. Is it easier to graph a linear relation with its equation in general form or slope-intercept form?  Explain.

7. Of the three strategies we discussed for graphing linear equations (table of values, slope-intercept form, intercepts) which do you prefer.  Explain.

8. Rebecca makes and sells Nanaimo bars.  She uses pans that hold 12 bars or 36 bars.  Rebecca uses these pans to fill an order for 504 Nanaimo bars.
Generate some data for this relation, then graph the data.

9. Amy is making a ribbon shirt.  She has 60cm of ribbon that she will cut into 5 pieces with 2 different lengths: 2 pieces have the same length and the remaining 3 pieces also have equal lengths.  Generate some data for this relation showing the possible lengths of the pieces and then graph the data.

10. Pascal saves loonies and toonies.  The value of his coins is $24.  Generate some data for this relation and then graph the data.

11. Graph each equation.  Which strategy did you use each time?

a)
x – 2y + 10 = 0

b)
y = 4x + 7

c)
y = -2x + 6




d)
7x + 4y + 4 = 0

In this section, we will Graph the equation of a line in the Slope-Point  form.

Online Video Lesson:   

Example #1: 

 Given y – 7 = -6(x – 3)

a)  What is the slope of the line?

b)  What is the coordinate (ordered pair) of the point it passes through?

c)  Graph the line.

Example #2:  
 Given 
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a)  What is the slope of the line?

b)  What is the coordinate (ordered pair) of the point it passes through?

c)  Graph the line.


Example #3:  If the equation of a line is 
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, answer the following

a)  What is the slope of the line?

b)  What is the coordinate (ordered pair) of the point it passes through?

c)  Graph the line.

ASSIGNMENT:  P 372 # 4odd, 7odd, 12



Example #1:

If a line has a slope of -6 and passes through the point (3,7), write the equation of the line in Slope-Point form.  Graph it.

Example #2

a) Write the equation of the line shown in the graph in Slope-Point form.
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Example #2:
Write the equation of the line shown in the graph in Slope-Point form.
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b) Use algebra to change your answer in part “a” into Slope-Y Intercept form.
(Note: this means to get y by itself with the “x” term first on the right
side of the equal sign) TN
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b)  Use algebra to change your answer in part “a” into Slope-intercept form.  (Note:  this means to get y by itself with the “x” term first on the right side of the equal sign).

Example #3

Write the equation of the line that has x intercept of -2 and slope of 4/5.  Graph the line.


Example #4

a) If a line passes through the points (-2,3) and (3,7), find its equation in slope point form.


b) Rewrite your equation in slope-intercept form.

Example #5

If a line passes through the points (-6,3) and (-2, 5), find its equation in slope point form and in slope intercept form.

Page 372 #5,9,11,16,18,19


Example #1
Write the following equations in General Form.

a) Y = 4x – 8






b) y = 2/3 x + 4


c)y = -5x + 1/7





d) y = -4x


e) y – 5 = 3(x+3)






f) y + 2 = -5/6(x-3)

Example #2

In which form is each equation written (slope-intercept form, slope-point form, general)?  Determine the slope of each.

a) Y = -5x + 12



b) 7x-3y+2 = 0


c) 4x-8y=6


Parallel Lines: have EQUAL SLOPES

Perpendicular Lines:have NEGATIVE RECIPROCAL SLOPES (Flip the slope and change the sign)

Example#1

Write an equation for the line that passes through R(1,-1) and is parallel to the line y = 2/3x-5

Example #2

Write the equation of the line perpendicular to 3x +2y -6 = 0 and x-intercept of 9.  Express the equation in slope-intercept form and general form.

Example #3

Write the equation of a line in general form that is parallel to each line and passes through the given point:

a) X – 8 = 0, (-2,4)


b) y = 9, (6,5)

c) y = -4x + 5, (3,4)

Example #4

Write an equation that passes through (4,3) and is perpendicular to the x-axis.
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Example #1
The student council sponsored a dance.  A ticket cost $5 and the cost for the DJ was $300.

a) Write an equation for the profit, P dollars, on the sale of t tickets.

b) Suppose 123 people bought tickets.  What was the profit?

c) Suppose the profit was $350.  How many people bought tickets?

Example #2

To join the local gym, Karim pays a start up fee of $99, plus a monthly fee of $29.

a) Write an equation for the total cost, C dollars, for n months at the gym.

b) Suppose Karim went to the gym for 23 months.  What was the total cost?

c) Suppose the total cost was $505.  For how many months did Karim use the gym?

Example #3
The cost of taking a taxi is a linear function of the time.  For a 20 minute ride, the cost is $65.  For a 58 minute ride, the cost is $179. 

A) Write an equation to represent the total cost ,C, dollars , for t minute ride.

B) Use your formula to determine the cost C of a ride that lasts 93 minutes.

c)  Use your formula to determine long you can travel in t minutes for a ride that costs $407.

Page 363 #13-18, Page 362 #8-9

GRAPHING LINEAR RELATIONS ASSIGNMENT  
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Discussion
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	Graphing Linear Relations (Concept 32)





WhenWhen we are given a linear equation with y alone on one side, the general form of this is y first, equal sign, tterm with x next, last comes the plain number.  It will look like this where “m” and “b” will actually be filled in with numbers.


				Y = mx + b





When written in this form, the number “m” will always be the rate of change which is rise/run. You can put this over 1 if there is no fraction already there


The number “b” will always be the y intercept and will belong in the ordered pair (0, b).





6.5 Graphing the Slope-Point Form of a Linear Equation (Concept 33)





Equation of a Line:  


Every line that we can draw on a graph has a particular “name” which can be represented by an equation.  


Last section we found the equation(name) by using the slope of the line b and the y intercept  - which will always turn out to be the ordered pair (0,b)  





SLOPE-Y INTERCEPT FORM OF A LINE    y = mx + b





If we take our SLOPE FORMULA � EMBED Equation.3  ��� 


modify it slightly so it looks like � EMBED Equation.3  ���


and cross multiply it – what does it look like?











Today we will find the equation by using the slope of the line and ANY point – this point will be called the ordered pair (x1, y1)


SLOPE-POINT  FORM OF A LINE    y – y1 =  m(x – x1)











6.5 Graphing the Slope-Point Form of a Linear Equation (Concept 34)








Equation of a Line:  


Every line that we can draw on a graph has a particular “name” which can be represented by an equation.  


Last section we found the equation(name) by using the slope of the line b and the y intercept  - which will always turn out to be the ordered pair (0,b)  





SLOPE-Y INTERCEPT FORM OF A LINE    y = mx + b





If we take our SLOPE FORMULA � EMBED Equation.3  ��� 


modify it slightly so it looks like � EMBED Equation.3  ���


and cross multiply it – what does it look like?











Today we will find the equation by using the slope of the line and ANY point – this point will be called the ordered pair (x1, y1)


SLOPE-POINT  FORM OF A LINE    y – y1 =  m(x – x1)











Steps to Finding Equations Given 2 Points:


 Use the slope formula to find the slope (m)


Use this m and ONE of the original points in the formula y –y1=m(x-x1)


Check to see what form you need to leave your answer in – rearrange your equation if necessary.





6.6 General Form Ax+By+C = 0 (Concept 35)








Equation of a Line:


Every line that we can draw on a graph can be represented by an equation


In 6.4 new found the equation by using the slope of the line and the y intercept – which will always turn out to be the ordered pair (0,b)





Slope-Intercept Form of a Line: y = mx + b


In 6.5 we found the equation by using the slope of the line and ANY point – this point will be called the ordered pair (x1,y1)


Slope-Point Form of a Line y – y1=m(x-x1)


In this section we will learn to take either of the above forms of a line and write the final answer in the:


General FORM OF A LINE Ax + BY + C = 0 (where there are NO FRACTIONS and A is POSITIVE) 


Sometimes we will also use the following:


STANDARD FORM OF A LINE is Ax + By = C (where we move the “C” to the other side of the equation, and A, B and C are integers)








Steps to Changing a line into General Form


If there are brackets, distribute the number in front of them first


If there are fractions, do the following:


Put all terms over 1


Find the lowest common Denominator Number


Multiply EVERY term by the LCD over 1


Pick the side where the x term will be positive.  Add or subtract the x term to get it to this side.


Add or subtract all the other terms to get it to the side where x is


Simplify by combining like terms.  Write your answer so the x term is first, then the y term, then the constant term = 0





6.5 Writing an equation of a line that is parallel and perpendicular (Concept 36)








6.4 Using an Equation to solve situational problems (Concept 37)








SOLUTIONS
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